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An easy to handle density is the
Exponential density
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If we believe E 7 2 and are

happy with V17 4 then a
is a reasonable choice



The Bayesian approach allows us
to combine different sources of
information
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This posterior has the kernelof
a Gamma distribution

with parameters

1 and atn denoted here by

Aly Yn nG sn t atn



Fxn Glap pH oct6 Ba T
ECX V X

I Modelx ax

Now Elxly yn ñ site
Mode7191,9m 7m say
Glynn 9m

In our coalmining example n 41,5512
E A Msn 3.084

Mode71min 12 3.060

VvartxlmsT YY.IE 0.273

Recall that
MLE 1 47 3.098
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In this example the prior information
is small when compared to the

information in the likelihood

Still E A ya yn and ModeAly Yn
are a little bit to the left of Imie

This is what we call shrinkage


